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Introduction

This Tdoc proposes changes to the TSG RAN WG1 technical specification ‘Physical layer- Measurements’ 25.231 (formerly S1.31) to adopt the OHG harmonisation agreement of reducing the chip rate from 4.096Mchips/sec (40960chips/frame) to 3.84Mchips/sec (38400chips/frame). 

For the TDD mode this will be achieved by reducing the number of timeslots per frame from 16 to 15 (the number of chips per slot will remain 2560, but one slot is now 666.666µs instead of 625µs and one chip is now 260.4167ns instead of  244.1406ns).

The modifications are based on TS25.231 version 0.3.0 (presented on the last RAN #4 Tdoc (99)330) and they are explained in the following list (mostly only editorial changes are necessary).

Proposed Changes

· Page 9, section 7.1.1.2.1.1, table:
62.5µs (symbol) and 625µs (slot) should be modified

· Page 17, section 7.1.5.4.2.1:
instead of:
‚the UE is not in transmit or receive state during 8,75 ms in each frame‘
it should be:
‚, the UE is not in transmit or receive state during 8,67 ms in each frame‘

· Page 18, section 7.1.5.4.2.1, figure 2:
figure should be modified,
text below the figure should be ‚15‘ instead of ‚16‘

· Page 18, section 7.1.5.4.2.1:
should be ‚A+B=13‘ instead of ‚A+B=14‘
should be ‚A*0,666-1.6ms‘ instead of ‚A*0.625-1.6ms‘
should be ‚B*0,666-1.6ms‘ instead of ‚B*0.625-1.6ms‘

· Page 18, section 7.1.5.4.2.1, table:
values should be modified
text below the table should be ‚15‘ instead of ‚16‘

· Page 19, section 7.1.5.4.2.2:
instead of:
‚(e.g for tsynth =0ms: 3 TDD consecutive idle timeslots needed, for tsynth =0,3ms: 4 slots,


for tsynth =0,5ms: 4 slots, for tsynth =0,8ms: 5 slots)‘
it should be:
‚(e.g for tsynth =0ms: 3 TDD consecutive idle timeslots needed, for tsynth =0,3ms: 3 slots,


for tsynth =0,5ms: 4 slots, for tsynth =0,8ms: 5 slots)‘

· Page 19, section 7.1.5.4.2.2, table:
instead of: 

Occupied slots=

16-idle slots
cases
FCCH detection time in ms



Average
maximum

2
120
37
189

3
560
46
328

4
1820
56
419

5
4368
70
568

6
8008
87
659

7
11440
110
660

8
12870
138
660

9
11440
169
660

10
8008
195
660

11
4368
215
660

12
1820
227
660

13
560
229
660

14
120
-
-

15
16
-
-

It should be:

occupied slots=

15-idle slots
cases
FCCH detection time in ms



Average
maximum

2
105
37
189

3
455
46
327

4
1365
58
419

5
3003
72
501

6
5005
90
646

7
6435
114
660

8
6435
144
660

9
5005
175
660

10
3003
203
660

11
1365
228
660

12
455
254
660

13
105
-
-

14
15
-
-

· Page 20, section 7.1.5.4.2.2, table:
instead of:

One-way switching time for the synthesiser 
Number of free consecutive TDD timeslots  needed in the frame for a guaranteed FCCH detection

1 TS (= 625(s)
5

0.5 TS (=312(s)
4

0 (dual synthesiser)
3

it should be:

One-way switching time for the synthesiser 
Number of free consecutive TDD timeslots  needed in the frame for a guaranteed FCCH detection

1 TS (= 666(s)
5

0.5 TS (=333(s)
4

0 (dual synthesiser)
3
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